

Classification of PS – Algebras

¹T.Priya, ²T.Ramachandran

¹Department of Mathematics, PSNA College of Engineering and Technology, Dindigul – 624 622, Tamilnadu , India.

²Department of Mathematics, M.V.Muthiah Government Arts College for Women, Dindigul– 624 001, Tamilnadu ,

Abstract

In this paper, we define a new algebra, namely PS – Algebra along with PS- ideal and discussed some of their properties in detail.

AMS Subject Classification (2000): 06F35, 03G25.

Keywords : PS-algebra, PS-sub algebra, PS-ideal, G-part, p-semi simple and medial of PS-algebra.

1. Introduction

K.Iseki and S.Tanaka [4] introduced the concept of BCK-algebras in 1978. K.Iseki [5] introduced the concept of BCI-algebras in 1980. It is known that the class of BCK-algebras is a proper subclass of the class of BCI-algebras. J.Negggers, S.S.Ahn and H.S.Kim [2] introduced a notion called d-algebras, which is a generalization of BCK/BCI/BCH-algebras, and generalized some theorems from the theory of BCI-algebras.K.Megalai and A.Tamilarasi [6] introduced a new notion ,TM-algebras, which is a generalization of BCK/BCI/BCH/BCC/Q-algebras.C.Prabayak[1] and U.Leerawat introduced the concept of KU-algebra. In this paper, the new notion, PS-algebra, PS- sub algebra, PS-ideals are introduced. More over we established the properties of PS-algebras through R-closed ideals, homomorphism, G-part, p-radical and medial .

2. Preliminaries

In this section we site the fundamental definitions that will be used in the sequel.

Definition 2.1 [4,9]

A BCK- algebra is an algebra $(X, *, 0)$ of type(2,0) satisfying the following conditions:

- i) $(x * y) * (x * z) \leq (z * y)$
- ii) $x * (x * y) \leq y$
- iii) $x \leq x$
- iv) $x \leq y$ and $y \leq x \Rightarrow x=y$
- v) $0 \leq x \Rightarrow x=0$, where $x \leq y$ is defined by $x * y = 0$,for all $x, y, z \in X$.

Definition 2.2 [5]

A BCI- algebra is an algebra $(X, *, 0)$ of type(2,0) satisfying the following conditions:

- i) $(x * y) *(x * z) \leq (z*y)$
- ii) $x * (x * y) \leq y$
- iii) $x \leq x$
- iv) $x \leq y$ and $y \leq x \Rightarrow x = y$
- v) $x \leq 0 \Rightarrow x = 0$, where $x \leq y$ is defined by $x * y = 0$,for all $x, y, z \in X$.

Definition 2.3 [3]

A Q- algebra is an algebra $(X, *, 0)$ of type(2,0) satisfying the following conditions:

- (i) $x * x = 0$
- (ii) $x * 0 = x$
- (iii) $(x * y)*z = (x * z) * y$, where $x \leq y$ is defined by $x * y = 0$, for all $x, y, z \in X$.

Definition 2.4 [2]

A d- algebra is an algebra $(X, *, 0)$ of type(2,0) satisfying the following conditions:

- i) $x * x = 0$

- ii) $0 * x = 0$
- iii) $x * y = 0$ and $y * x = 0$ imply $x = y$,
for all $x, y \in X$.

Definition 2.5 [1]

A KU- algebra is an algebra $(X, *, 0)$ of type(2,0) satisfying the following conditions:

- i) $(x * y) * ((y * z) * (x * z)) = 0$
- ii) $x * 0 = 0$
- iii) $0 * x = x$
- iv) $x * y = 0$ and $y * x = 0$ imply $x = y$ for all $x, y, z \in X$.

Remark :

- Every BCK-algebra is a TM-algebra but not the converse.
- Every BCK-algebra is a BCI-algebra but not the converse.
- Every BCI-algebra is a BCH-algebra but not the converse.
- Every BCH-algebra is a Q-algebra but not the converse.
- Every TM-algebra is a BH-algebra but not the converse.
- Every BCK-algebra is a d-algebra but not the converse.

3. PS-Algebras and its Properties

In this section we define PS-algebra, PS-ideal and discussed some of its properties.

Definition 3.1

A nonempty set X with a constant 0 and a binary operation ‘ $*$ ’ is called PS – algebra if it satisfies the following axioms.

1. $x * x = 0$
2. $x * 0 = 0$
3. $x * y = 0$ and $y * x = 0 \Rightarrow x = y, \forall x, y \in X$.

Definition 3.2 :

Let S be a non empty subset of a PS -algebra X , then S is called a PS-sub algebra of X if $x * y \in S$, for all $x, y \in S$.

Definition 3.3 :

Let X be a PS-algebra and I be a subset of X , then I is called a PS-ideal of X if it satisfies following conditions:

1. $0 \in I$
2. $y * x \in I$ and $y \in I \Rightarrow x \in I$

Example 3.4 : Let $X = \{ 0, 1, 2 \}$ be the set with the following table.

*	0	1	2
0	0	1	2
1	0	0	1
2	0	2	0

Then $(X, *, 0)$ is a PS – Algebra.

Example 3.5 : Let $X = \{ 0, a, b \}$ be the set with the following table.

*	0	a	b
0	0	a	b
a	0	0	0
b	0	b	0

Then $(X, *, 0)$ is a PS – Algebra.

Proposition 3.6 :In any PS-algebra $(X, *, 0)$, with $x \leq y$, the following holds good for all $x, y \in X$.

1. $x * (y * x) = y * (x * x)$
2. $y * (x * (y * x)) = 0$
3. $y * (y * (y * x)) = y * x$
4. $y * (x * (x * y)) = 0$.
5. $(x * y) * 0 = (x * 0) * (y * 0)$
6. $(x * y) * x = (x * x) * y$

Proof :

(i) $y*(x*x) = y*0$ by 1 of definition 3.1

$$= 0 \quad \text{by 2 of definition 3.1}$$

$$= x*0 \quad \text{by 2 of definition 3.1}$$

$$= x*(y*x)$$

$$(ii) y*(x*(y*x)) = y*0 \quad \text{by (i) of 3.6}$$

$$= 0 \quad \text{by 2 of definition 3.1}$$

$$(iii) y*(y*(y*x)) = y*(y*0)$$

$$= y*0 \quad \text{by 2 of definition 3.1}$$

$$= 0 \quad \text{by 2 of definition 3.1}$$

$$= y*x$$

$$(iv) y*(x*(x*y)) = y*(x*0)$$

$$= y*0 \quad \text{by 2 of definition 3.1}$$

$$= 0 \quad \text{by 2 of definition 3.1}$$

$$(v) (x * y) * 0 = 0 \quad \text{by 2 of definition 3.1}$$

$$= 0 * 0 \quad \text{by 1 of definition 3.1}$$

$$= (x * 0) * (y * 0) \quad \text{by 2 of definition 3.1}$$

$$(vi) (x * y) * x = 0 * x \quad (\text{by 3 of definition 3.1})$$

$$= 0 * y \quad (\text{by 3 of definition 3.1})$$

$$= (x * x) * y \quad (\text{by 1 of definition 3.1})$$

Remark :

1. A BCI algebra is a PS-algebra $(X, *, 0)$ satisfying the following additional axioms :

$$(1) (x*y)*(x*z)*(z*y) = 0$$

$$(2) (x*(x*y)*y) = 0$$

2. A KU- algebra is a PS-algebra $(X, *, 0)$ satisfying the following additional axioms :

$$(1) (x*y)*(y*z)*(x*z) = 0$$

$$(2) 0*x = x$$

Proposition 3.7 : Let X be a PS-algebra. If $x \neq y$ and $y * x = 0$, then $x * y \neq 0$.

Proof : It is straightforward.

Example 3.8: Let $X = \{ 0, a, b \}$ be a PS-algebra, Which is not a BCK / d - algebra

*	0	a	b
0	0	a	b
a	0	0	a
b	0	b	0

Since (i) $0*a \neq 0$ (ii) $a*(a*b)*b = b \neq 0$.

Example 3.9 : Let $X = \{ 0, a, b, c \}$ be a PS-algebra , which is not a KU / TM -algebra.

*	0	a	b	c
0	0	b	a	c
a	0	0	0	b
b	0	0	0	b
c	0	b	b	0

Since i) $0 * a = b \neq a$, and ii) $(a*0)*((0*c)*(a*c)) = a \neq 0$.

Example 3.10 : Let $X = \{ 0, a, b, c \}$ be a PS-algebra, which is not a BRK – algebra.

*	0	a	b	c	d
0	0	b	a	c	d
a	0	0	0	b	c
b	0	0	0	b	a
c	0	b	b	0	b
d	0	c	b	a	0

Since (i) $a * 0 = 0 \neq a$ (ii) $(a*b)*a \neq 0 * b$

Example 3.11: Let $X = \{ 0, a, b, c \}$ be the set with the following Cayley table.

*	0	a	b	c
0	0	b	a	c
a	0	0	0	b
b	0	0	0	b
c	0	b	b	0

It is clear that $(X, *, 0)$ is a PS – Algebra, but not a KU- algebra, Since i) $0 * a = b \neq a$, and

ii) $(a*0)*((0*c)*(a*c)) = a \neq 0$.

It is easy to see that BCK / TM/d/ KU / Q /BRK – algebras[8] and PS-algebras are different notions.

Remark : From example 3.8 , $I = \{0,a\}$ is a PS-ideal. From example 3.10 , $I_1 = \{0,a,b\}$ and $I_2 = \{0,d\}$ are PS-ideals.

Example 3.12 : Let $X = \{ 0,a,b,c \}$ be a PS-algebra .

*	0	a	b	c
0	0	b	0	c
a	0	0	0	b
b	0	0	0	b
c	0	b	b	0

Here $I = \{ 0,b,c \}$ is a PS-ideal.

Proposition 3.13 :

Let I be a PS-ideal of a PS-algebra X . If $x \in I$ and $x * y = 0$, then $y \in I$.

Proof: Let $x \in I$ and $x * y = 0$.

$\Rightarrow x \in I$ and $x * y \in I$. Since I is a PS-ideal we have $y \in I$.

Proposition 3.14 :

Let X be a PS-algebra and I be a non-empty subset of X containing 0. Then I is a PS-ideal of X iff $y * x \in I, x \notin I \Rightarrow y \notin I$, for all $x, y \in X$.

Proof: Let I be a PS-ideal of X and $y * x \in I$ and $x \notin I$. Suppose that $y \in I$, then $x \in I$, since I is a PS-ideal, which is a contradiction. $\Rightarrow y \notin I$.

Conversely, Let us assume that $y * x \in I, x \notin I \Rightarrow y \notin I$, for all $x, y \in X$.

If $y * x \in I$ and $y \in I$, then it is clear that $x \in I$. Hence I is a PS-ideal.

Corollary 3.15 :

Let X be a PS-algebra and I be a non-empty subset of X containing 0. Then

- (i) I is a PS-ideal of X iff $y * x \in I, y \notin I \Rightarrow x \notin I$, for all $x, y \in X$.
- (ii) I is a PS-ideal of X iff $y * x \in I, x \in I \Rightarrow y \in I$, for all $x, y \in X$.
- (iii) I is a PS-ideal of X iff $x \in I, y \in I \Rightarrow y * x \in I$, for all $x, y \in X$.

Remark:

Let X be a PS-algebra and I be a non-empty subset of X containing 0. Then

- (i) I is a PS-ideal of X iff I is a ideal of X .
- (ii) I is a PS-ideal of X iff I is a BCK- ideal of X .
- (iii) I is a PS-ideal of X iff I is a PS- Sub algebra of X .

Definition 3.16 : An ideal I of a PS-algebra X is said to be R-closed if $x * 0 \in I$ for all $x \in I$.

Theorem 3.17: Every R-closed ideal of a PS-algebra is a PS-sub algebra.

Proof : Let I be a R-closed ideal of a PS- algebra $(X, *, 0)$.

Let $x, y \in I$. Then $x * 0$ and $y * 0 \in I$.

In PS-algebra , $(x * y) * 0 = 0$. Hence $x * y \in I$.

So I is a sub-algebra of PS-algebra.

Definition 3.18

A mapping $f: X \rightarrow Y$ of a PS-algebra is called a homomorphism if $f(x * y) = f(x) \Delta f(y), \forall x, y \in X$.

Remark :

If $f: X \rightarrow Y$ is a homomorphism of PS-algebra, then $f(0) = 0$.

Theorem 3.19: If $f: X \rightarrow Y$ is a homomorphism of PS-algebra, then (i) $f(0) = 0$ and (ii) If $x * y = 0, \forall x, y \in X$ then $f(x) \Delta f(y) = 0$.

Proof: (i) $f(0) = f(0 * 0) = f(0) = f(0) \Delta f(0) = 0$

(ii) Let $x, y \in X$ and $x * y = 0$.

$$\begin{aligned} \text{Then } f(x) \Delta f(y) &= f(x * y) \\ &= f(0) \\ &= 0. \end{aligned}$$

Theorem 3.20 : Let $(X, *, 0), (Y, \Delta, 0')$ be PS-algebras and let J be a PS- ideal of Y . Let $f: X \rightarrow Y$ be a homomorphism. Then $f^{-1}(J)$ is a PS- ideal of X .

Proof:

We know that $f^{-1}(J) = \{x \in X / f(x) = y \text{ for } y \in J \}$.

Since $0' \in J$ and $f(0) = 0', 0 \in f^{-1}(J)$.

Assume $y * x \in f^{-1}(J)$ and $y \in f^{-1}(J)$, then $f(y * x) \in J$ and $f(y) \in J$.

Since f is a homomorphism $f(y * x) = f(y) \Delta f(x) \in J$.

Since J is a PS- ideal of $Y, f(x) \in J \Rightarrow x \in f^{-1}(J)$.

Hence $f^{-1}(J)$ is a PS- ideal of X .

Definition 3.21 : The set $\{x \in X / f(x) = 0'\}$ is known as kernel of f and is denoted by $\ker f$.

Theorem 3.22: Let $f: X \rightarrow Y$ is an anti homomorphism of PS- algebra then $\ker f$ is a PS- ideal of X .

Proof: Obviously $0 \in \ker f \Rightarrow f(0) = 0$.

Let $y * x \in \ker f$ and $y \in \ker f$.

$$\begin{aligned} \Rightarrow f(y * x) &= 0 \text{ and } f(y) = 0 \\ \Rightarrow f(x) \Delta f(y) &= 0 \\ \Rightarrow f(x) \Delta 0 &= 0 \\ \Rightarrow f(x) &= 0 \\ \Rightarrow x &\in \ker f. \end{aligned}$$

Proposition 3.23: Let $f: (X, *, 0) \rightarrow (Y, \Delta, 0)$ be an homomorphism of PS-algebra, then

- (i) If S is a PS - sub algebra of X , then $f(S)$ is a PS - sub algebra of Y .
- (ii) If S is a PS - sub algebra of Y , then $f^{-1}(S)$ is a PS - sub algebra of X .

4. G-part , p-radical and medial of PS-algebras

Definition 4.1 : Let X be a PS-algebra. For any subset S of X , we define $G(S) = \{x \in S / 0 * x = x\}$

In particular, if $S = X$, then we say that $G(X)$ is the G-part of a PS-algebra.

Definition 4.2: Let X be a PS-algebra. Then the set $B(X) = \{x \in X / 0 * x = 0\}$ is called a p-radical of X .

Proposition 4.3 : Let X be a PS-algebra. The p- radical $B(X)$ of X is PS- sub algebra.

Proof: By definition of PS- sub algebra, it is obvious that $B(X)$ is PS- sub algebra of X .

Theorem 4.4 : Let $(X, *, 0)$ be a PS-algebra. The p- radical $B(X)$ of X is a PS-ideal of X .

Proof: Since $0 * (0 * 0) = 0, 0 \in B(X)$.

Let $y * x \in B(X)$ and $y \in B(X)$.

Then it implies $0 * (y * x) = 0$ and $0 * y = 0$.

$$\begin{aligned} \text{Now, } (0 * y) * (0 * x) &= 0 \\ \Rightarrow 0 * (0 * x) &= 0 \\ \Rightarrow (0 * 0) * x &= 0 \\ \Rightarrow 0 * x &= 0 \\ \Rightarrow x &\in B(X) \end{aligned}$$

$\therefore B(X)$ is an ideal of X .

Definition 4.5 : A PS-algebra X is said to be p-semi simple if $B(X) = \{0\}$.

Remark : It is obvious that $G(X) \cap B(X) = \{0\}$.

From example 3.2, Let us consider $G(X) = \{0, 1, 2\}$ and $B(X) = \{0\}$.

It is clear that $G(X) \cap B(X) = \{0\}$.

Theorem 4.6: Let $(X, *, 0)$ be a PS-algebra. If $G(X) = X$, then X is p-semi simple.

Proof: Let $G(X) = X$.

Also $G(X) \cap B(X) = \{0\}$

$\Rightarrow X \cap B(X) = \{0\}$, (i.e) $B(X) = \{0\}$.

Hence X is P-semi simple.

Theorem 4.7: If S is a PS- sub algebra of a PS-algebra $(X, *, 0)$, then $G(X) \cap S = G(S)$.

Proof: Obviously , $G(X) \cap S \subset G(S)$.

We know that $G(S) = \{x \in S \subset X / 0 * x = x\}$.

Let $x \in G(S)$. Then $0 * x = x$ and $x \in S \subset X$ which implies that $x \in G(X) \cap S$.

Hence $G(S) \subset G(X) \cap S$.

Therefore $G(X) \cap S = G(S)$.

Theorem 4.8: If $(X, *, 0)$ is a PS – algebra and $x, y \in X$ then $y \in G(X) \Leftrightarrow (x * y) * x = y$.

Proof: Let $(X, *, 0)$ be a PS-algebra. Let $x, y \in X$ and $y \in G(X)$. Then $0 * y = y$.

Now, $(x * y) * x = (x * x) * y = 0 * y = y$

$$\therefore (x * y) * x = y.$$

Conversely, Let us assume that $(x * y) * x = y$.

Now, $0 * y = (x * x) * y = (x * y) * x = y$

$\Rightarrow y \in G(X)$.

Theorem 4.9: If $(X, *, 0)$ is a PS – algebra and $x, y \in X$ then $y \in B(X) \Leftrightarrow (x * y) * x = 0$.

Proof: Let $(X, *, 0)$ be a PS-algebra. Let $x, y \in X$ and $y \in B(X)$. Then $0 * y = 0$.

Now, $(x * y) * x = (x * x) * y = 0 * y = 0$.

$$\therefore (x * y) * x = 0.$$

Conversely, Let us assume that $(x * y) * x = 0$.

Now, $0 * y = (x * x) * y = (x * y) * x = 0$

$\Rightarrow y \in B(X)$.

Theorem 4.10: If $(X, *, 0)$ is a PS – algebra and $x * y = x * z$ then $0 * y = 0 * z$, where $x, y, z \in X$.

Proof : Now, $(x * y) * x = (x * x) * y = 0 * y$

$$(x * z) * x = (x * x) * z = 0 * z$$

Since $x * y = x * z$, then $0 * y = 0 * z$.

Theorem 4.11: Let X be a PS algebra. Then the left cancellation law holds in $G(X)$.

Proof: Let $x, y, z \in G(X)$ with $x * y = x * z$.

By the above theorem, $0 * y = 0 * z$.

Since $y, z \in G(X)$, we obtain $y = z$.

Theorem 4.12 : Let $(X, *, 0)$ be a PS-algebra. Then $x \in G(X)$ iff $0 * x \in G(X)$.

Proof: If $x \in G(X)$, then $0 * x = x$.

Now, $0 * (0 * x) = 0 * x$.

$\Rightarrow 0 * x \in G(X)$.

Conversely, If $0 * x \in G(X)$, then $0 * (0 * x) = 0 * x$.

By left cancellation, we get $0 * x = x$.

$\Rightarrow x \in G(X)$.

Corollary 4.13: If $(X, *, 0)$ is a PS-algebra of order 3, then $|G(X)| \neq 3$, that is $G(X) \neq X$.

Theorem 4.14: Let $(X, *, 0)$ be a PS-algebra of order 3. Then $G(X)$ is a PS-ideal of X if and only if $|G(X)| = 1$.

Proof : Let $X = \{0, a, b\}$ be a PS-algebra. If $|G(X)| = 1$, then $G(X) = \{0\}$ is the trivial ideal of X .

Conversely, assume that $G(X)$ is an ideal of X . By corollary 4.13, we know that either $|G(X)| = 1$ or

$|G(X)| = 2$. Suppose that $|G(X)| = 2$. Then either

$G(X) = \{0, a\}$ or $G(X) = \{0, b\}$.

If $G(X) = \{0, a\}$, then $b * a \notin G(X)$ because $G(X)$ is an ideal of X so $b * a = b$

Now $0 = a * 0 = a * (b * b) = b * (a * b) = b * a = b$, a contradiction. Similarly $G(X) = \{0, b\}$ leads to a contradiction. Therefore $|G(X)| \neq 2$ and so $|G(X)| = 1$.

Definition 4.15 : Let $(X, *, 0)$ be a PS-algebra satisfying $(x * y) * (z * u) = (x * z) * (y * u)$ for any $x, y, z, u \in X$ is called a medial of PS-algebra.

Theorem 4.16 : Let $(X, *, 0)$ be a medial of PS-algebra. Then $G(X)$ is a PS-sub algebra of X .

Proof : Let $x, y \in G(X)$. Then $0 * x = x$ and $0 * y = y$.

$$\begin{aligned} \text{Hence } 0 * (x * y) &= (0 * 0) * (x * y) \\ &= (0 * x) * (0 * y) \\ &= x * y. \end{aligned}$$

Theorem 4.17: Let $(X, *, 0)$ be a medial of PS-algebra. Then $B(X)$ is a PS-sub algebra of X .

Proof : Let $x, y \in B(X)$. Then $0 * x = 0$ and $0 * y = 0$.

$$\begin{aligned} \text{Hence } 0 * (x * y) &= (0 * 0) * (x * y) \\ &= (0 * x) * (0 * y) \\ &= 0. \end{aligned}$$

Theorem 4.18: Let $(X, *, 0)$ be a medial of PS-algebra. Then (i) $(x * y) * z = y * z$ (ii) $x * (y * z) = y * (x * z)$ (iii) $x * y = 0$, for any $x, y, z \in G(X)$.

Proof : (i) $(x * y) * z = (x * y) * (0 * z)$

$$\begin{aligned} &= (x * 0) * (y * z) \\ &= 0 * (y * z) \\ &= y * z \end{aligned}$$

$$\begin{aligned} \text{(ii) } x * (y * z) &= (0 * x) * (y * z) \\ &= (0 * y) * (x * z) \\ &= y * (x * z) \end{aligned}$$

$$\begin{aligned} \text{(iii) } x * y &= 0 * (x * y) \\ &= (y * y) * (x * y) \\ &= (y * x) * (y * y) \\ &= (y * x) * 0 \\ &= 0 \end{aligned}$$

Theorem 4.19: Let $(X, *, 0)$ be a medial of PS-algebra. Then $G(X)$ is a PS-ideal of X .

Proof : Since $0 * 0 = 0$ by (i) of 3.1 $\Rightarrow 0 \in G(X)$.

Let $x, y \in X$ be such that $y * x \in G(X)$ and $y \in G(X)$.

Then it implies $0 * (y * x) = y * x$ and $0 * y = y$.

Now, $y = (x * y) * x$, by theorem 4.8

Put $y = x$, we get

$$x = (y * x) * y = (0 * (y * x)) * (0 * y) = (0 * 0) * ((y * x) * y) = 0 * x.$$

Thus we get $0 * x = x$. Hence $x \in G(X)$.

Therefore $G(X)$ is a PS-ideal of X .

Definition 4.20: An ideal I of a PS-algebra $(X, *, 0)$ is said to be closed if $0 * x \in I$ for all $x \in I$.

Theorem 4.21: Let $(X, *, 0)$ be a medial of PS-algebra. Every closed ideal of X is a PS-sub algebra.

Proof : Let $(X, *, 0)$ be a medial of PS-algebra. Let I be a closed ideal of X .

Let $x, y \in I$. Then $0 * x$ and $0 * y \in I$.

Now, $0 * (x * y) = (0 * 0) * (x * y) = (0 * x) * (0 * y)$ and hence $0 * (x * y) \in I$. Hence $x * y \in I$.

So I is a sub-algebra of PS-algebra.

5. Conclusion

The concept of proposed PS-algebra in this work, has been evaluated against well established algebraic theorems. It has been observed that PS-algebra; satisfies the various conditions stated in BCK/BCI/BCH /Q/TM/KU algebras and hence it can be considered as the generalization of all these algebras.

6. Acknowledgement

Authors wish to thank Dr. K.T.Nagalakshmi , Professor and Head ,Department of Mathematics, K L N College of Information and Technology, Pottapalayam, Sivagangai District, Tamilnadu, India, Prof. P.M.Sithar Selvam, Professor and Head , Department of Mathematics, RVS School of Engineering and Technology, Dindigul, Tamilnadu , India, for their help to make this paper as successful one.

REFERENCES

- [1] C.Prabpayak and U.Leerawat ,On Ideals and congruences in KU-algebras, Scientia Magna J. 5(1)(2009),54-57.
- [2] J.Neggers and H.S.Kim , On d-algebras , Math,slovaca, 49 (1999) , 19-26
- [3] J.Neggers , S.S.Ahn and H.S.Kim , On Q-algebras, IJMMS 27 (2001) , 749-757.
- [4] K.Iseki and S.Tanaka , An introduction to the theory

of BCK – algebras , Math Japonica 23 (1978), 1- 20 .

- [5] K.Iseki , On BCI-algebras , Math.Seminar Notes 8 (1980), 125-130.
- [6] K.Megalai and A.Tamilarasi , TM-algebra-An introduction, IJCA special issue on “Computer Aided Soft Computing Techniques for imaging and Bio medical Applications”,2010,17-23.
- [7] Q.P.Hu and X.Li , On BCH-algebras, Mathematics Seminar notes11 (1983) , 313-320.
- [8]R.K.Bandaru, On BRK-algebras, International Journal of Mathematics and Mathematical sciences, vol. 2012 , 1-12.
- [9]Y.Imai and K.Iseki, ”On axiom systems of propositional calculi XIV”, proceedings of the Japan academy, vol.42(1966),19-22.